y (0,a) aras1 V=V,

V=ci1y+Cz
y=a V=Vc
y=2a V=0

0=2aci+cy
c=aC1+C2
aci=-Vc

\/
C,=—=
a

Ve 0=—2~%a+c2

= X

¥

4 c, =2V,

Y y=(a,2a) arasl V:—%y+zvc

<l <I
Il
p NI

s

<I

2al 2

dea
A
a 2a V
IVCdy + _[— —<y+ 2vcdyj
0 a a
1 V.y|o + —ﬁy2 +2v yZa
2a| 70 2a “,

—|V.a+ —ﬁ(Za)2 +2v.a—|- Ve g2 s 2v.a
2a 2a

3aV.

j: 3y, =2,25™
4 S



2)

V, A, =V, A,

A, = 0,097
A; =0,02257x
V,-0,09z =V, -0,02257
V,
V, =22 (I
2= (1)
A-B arasi Bernoulli;

2 2
VL+P—A+O=VL+P—B+O,75
29 7y 29 7y

2 2
Ve +P—A+O:VL+i+O,75
329 ¥ 29 v

15v,°
- =P, -P,+0,75 (II

oy = Pe—Pat075 (IN)

C-D arasi basing esitligi;
P, +(z+0,357)=P; +(0,75+2)+0,357(13,6)
P, =0,393 + P, + 4,8552 (III)

III => II'de yerine konursa;



2
V% b (0,393 + P, + 4,8552) + 0,75

32g
2
_1Ve' | 5393 -4,8552 40,75
32g
2
_1Ve 44082
32g

V,? =9,702491g = 94,1383296

V, = 9,702491%
V, A, =V, A, =9,702491 - 0,02257

3

Q - 0,685829 '“?



